
Solutionbank  
Edexcel AS and A Level Modular Mathematics 
Exercise C, Question 4 

Question: 

Show that 

(a) cosθ + sinθ tanθ ≡ secθ 

(b) cotθ + tanθ ≡ cosecθ secθ 

(c) cosecθ − sinθ ≡ cosθ cotθ 

(d) ( 1 − cosx ) ( 1 + secx ) ≡ sinx tanx  

(e) +  ≡ 2 secx

 

(f) ≡  
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Solution: 

(a) L.H.S. ≡ cosθ + sinθ tanθ 

≡ cosθ + sinθ  
 

≡  
 

≡  (using sin2 θ + cos2 θ ≡ 1)
 

≡ secθ ≡ R.H.S. 

(b) L.H.S. ≡ cotθ + tanθ 

≡  +  
 

≡  
 

≡  
 

≡  ×  
 

≡ cosecθ secθ ≡ R.H.S. 

(c) L.H.S. ≡ cosecθ − sinθ 

≡  − sinθ
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≡  
 

≡  
 

≡ cosθ ×  
 

≡ cosθ cotθ ≡ R.H.S. 

(d) L.H.S. ≡ ( 1 − cosx ) ( 1 + secx )   
≡ 1 − cosx + secx − cosx secx (multiplying out) 
≡ secx − cosx 

≡  − cosx
 

≡  
 

≡  
 

≡ sinx ×  
 

≡ sinx tanx ≡ R.H.S. 

(e) L.H.S. ≡  +  

 

≡  
 

≡  
 

≡  (using sin2 x + cos2 x ≡ 1)
 

≡  (factorising)
 

=  
 

≡ 2 secx ≡ R.H.S. 

(f)
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cos2 x + ( 1 − sinx )  2

( 1 − sinx ) cosx 

cos2 x + ( 1 − 2 sinx + sin2 x )  
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